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- IP no sgyment of e Cuvve cepreSented by TRe pavamebviC
equaHOnS x=x) > ‘j—;\j[*) (a\(-h\(b\ Then The arC \‘_“5"]]:\_—
L of The Cuvve is

b = —
L= B R

s pmm—
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"EX/ Find TRe avC \engR of TKe Cupve 3-_—_)(/2 Leawm (V) Lo
(2,2)2). ; @
Sol A -
: j/c‘ T " (2,2V2)
Brg A
3/
2 2 Je Xt
L.-:j 1]:+ix dx =& (1+ iX} 22.0854 u.lengh
{ 9 23 4= 9 - e . o
41— -3
sol2 / . F*®
A e y 3
dy ~ =
202 2i2
L= |

= 20854 u lwglh
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EX/ Find The Leﬂgm P/’ JKe Zl'r\e Scjmen'l‘ y:ZX ﬁrom

(g’t"_‘/?? | BRSNS

i LERY
sol/ Y 5
way L/ é?— - 2 ()

Ax - / -

x %a !--

W"D’V L - (35‘3,)11- (X-%)" = J’(u-z)i(2-1)1 = J& w byl
—

KW/ Find e exack avc leagh of The Curve if

@ 9= '3)2/1-_} ﬁrom X=o o %= Anj/(gs"ﬁ‘-s:_g)/zq-a
@ 5 7-/3 fr‘om %K=l ‘ED X=g ﬂns/___{go‘j—a l3r)

© XY=9%4g from Yz2 4o Yay A/ 1V
@ x=4f, y= 4t egeg Ans/ (202-1)/2
@) X= Goszt , Y= St oKt AnS/ T

B cardioid v= ali+ s p) between Bzo toIT Ans/o L
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Ex/ Find TRe avea of The Suvfate TRat is genevated by
vevolving The portion of The Curve WiTR inkevval

and veveolving Showw below:

@ \5:;(3 between X=zo and xX=| about x-axis.
T =

@ Y=X Dbetween X=zi| and N=2 about Y-axis.
i

- —
sel / @ 5_‘9. ..'3&
1
I S= 5?-7"3 ”(dx dx -.-.erszp,(-zx’J‘Ax
‘xb'~ :'lﬂ- - }

'y B i ~ See fig.d
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HW/ Find We avea of The Surfaca _9enem4-e3 by vevolving

TRe given Cuvve aboul TRe indituted axig

@ 3:?')(- °{<X \<I abau% X-aXis An5/35.["z'77"
@ 3=Ju—-x’- - =IX S about x-axis Ans/ &I
© x=9Y 4 oy 2 aboud Y-axis  Ang/uoiF s

@ X=yq-y* 2§y £2 about Y-aXiS Ang/2y T

* Avea o/’ The .SurfaCe n po!ar Co-ordinates S)/S‘}"CM\

-
S —_J 20T V. Sing r2+(%{_)‘{19 see Figa paye 44
B
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EXS Lo T Swhlate avea genevated Whin The ave of 7.

Cuvve v= S(i1+ tos @) bt’)‘w’eev\ B=o ko 77 V‘o%a‘l'e about
The iv\-‘(‘\o\\ \ine
sol /

T
S < (27.501+058) . 5in 0 25 (14260584 L0594 5325 | g
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-

HW/FW\J TL:Q ave y Df fe SUL/‘Q#(‘Q ‘?rﬂpfa,Lﬁ'J ‘A)L\M—TK- avC 0[

4
TRe curve vzae” between f=o Yo T V‘ol:a\—e about wwhal dive
Ans 2;"1 L
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